BER2D2EF=ZHFTEHAZUNEMN EER% S
1. IEFES
5

SHZHFBEEER()
A2+ig2—ic —2+ip —2-i

2. IRFER
—ANJUT R = EWE, MERRERN O

1
3
2 2

EE i

UigNEa

A 28B. 24+ 25
C 20+45p20+25

3. R .74 5
THIRREIRAZ (O

A ZEpIx €ERXP—x+1=0 [ ~pVx ERX rx+1%0,

B. #pdxERcosx=1 qVxe€ Rxl—x4+150 , NPT R AT S
C. ATEHI=0, Jeb = O (s frfiE: <0, ek # 0,

1
. 6 = - — o Y
D, «SN8 =30 5468 = 30 ° g S R T AR

4. IEFE
7P T ELA A5 R A ABCT AR BINAQ0). B P clne 0. 3 AABCRAIF=
T IE SEHCD BB VB & ()

A0St B! 0<m<B c0Em<BEim>4 p 0<m<1Bim>4

5. AR
EHATNTASEAES, G5 M ELMES, KM TE=RB AT HF(@b), #

g 2 b
FOS20=75 = ()
1

—

A.2B.2C. 2D —2

6. EFERE -

I 1 s =03

b=| =
Bga-s, T2 emdord rabemxak g

A a < b <cB.c<a<b C,c<b<a D, b<c<a

7. B R -
ma =M e e Ry m s R RER ()



